SECTION 1 : LISTENING COMPREHENSION

Directions: In this part of the test, you will hear longer conversations. After each

& conversation, you will hear several questions. The conversations and questions will not be
repeated. After you hear a question, read the four choices in your answer sheet and choose
the best answer. Then, on your answer sheet, find the number of the question and put a
cross “X” in the space that corresponds to the letter of the answer you have chosen.
Remember, you are not allowed to take notes or write in your test book.

Listen to the following example:
You will hear:
You will read:

(A) He has changed jobs.
(C) He has two jobs.

{B) He has two children. .
(D) He is looking for a job.

From the conversation you learn that Tom has take an additional job. The best answer to
the question “Why is Tom tired?” is (C), “He has two jobs.” Therefore, the correct answer is

(C).
-

31.(A) The life of sociable creatures
(C) The differences between fish and dolphins

32.(A) In a museum :
(C) In a laboratory *

33.(A) For about 2 months
(C) Approximately 2 years

34.(A) By visual contact
(C) Through warning one another

(B) Special features of dolphins
(D) Communication between groups of

dolphins

(B) On a seashore
(D) At a zoo

(B) For almost 12 months
(D) Approximately 20 years

{B) By sounds
(D) With the help of scientists




use
(C) The acquisition of words m dictionaries (D)The various applications of
dictionary entries
36. (A) Formal ant technical (B) General and specialized
(C) Small and unabridged (D) America and English
37. (A) Took a writing class (B) Used a technical dictionary
(C) Studied many new words (D) Taught a reading class

38. (A) Learners need to abandon dictionaries when their vocabulary increases,
(B) Teachers think that students shouldn’t always depend on dictioaries. .
(C) One can’t use a dictionary effectively without knowing word usage.
(D) Although dictionaries contain many entries, some word definitions can be irrelevant.

PART C

w» Directions: In Part C, you will hear short lecturers and conversations. At the end of each, you
will be asked Several questions. Each lecture or Conversation and each question will be
Spoken only one time. For this reason, you must listen carefully to understand what each
Speaker says. After You hear a question, read the four selections and choose the one is the
best answer to the sentence the Speaker asked. Then, on your answer sheet, find the
number of the question and put a cross “X” on the space that corresponds to the letter of
the answer you hav‘:a chosen. Answer all questions on the basis of what is stated or implied
in the lecture or conversation.

Listen to this Sample talk. You will hear:

Now listen to the following example,
You will hear:
You will read:
(A) By cars and carriages (B) By bicycles, trains, and carriages
(C) On foot and by boat (D) On board ships and trains
S
The best answer to the question “According to the Speaker, how did People travel before the
invention of the automobile?” js (B), “By bicycles, trains, and carriages.” Therefore, the
correct answer is (B).

Now listen to another sample question

(Narrator) Approximately how many people are employed in the automobile service
industry?

You will read:
(A) One million (B) Ten million
(C) Twelve million (D) Ninety million



,-4amﬁ-m-wmh—ypeoﬂeme-phyed in the

/ automobile service indanisy? is (C), “Twelive millien."™ Therefore, the correct answer is (C).
You are not allowed to talhe nslies dusing the test.

39. (A) It’s the northern. @) i's the southern.
(C) It’s the deepest. @) s the smallest
40. (A) It’s heavily traveled all year rommd. (B) it"s mot mavigable for large boats.
{C) It has less traffic than the other Great Lalkkes. (D) Its shores are inaccessible for
tanding.
41. (A) 53 miles (B) 193 miles
(C) 480 miles (D) 7,500 miles

42, (A) Its water is used for irrigation of trees. (B) It moderates the weather patterl:s in the

region.
(C) It cools the air in the surrounding areas. (D) It has a considerable capacity to store
water.
@ 43. (A) England (B) Scotiand
{C) Richmond (D) Boston
44, (A) They were well-to-do (B) They didn’t love young Poe.
(C) They were English. (D) They abandoned him.
45. (A) 9 S (B) 11
{C) 15 (D) 18
46. (A) He was a competent student. (B) He preferred studying in the
academy.
(C) He did not do well in his academics. (D) He decided to travel to Scotland
instead.

47. (A) John Allan could not afford Poe’s education.
(B) Poe became involved in gambling.
~ (C) John Allan had to leave for England.
(D) Poe decided to become a writer.

48. (A) It is nonpersonal. (B) It consists of presentations.
(C) It cannot be bought. (D) 1t includes hamburgers and soft
drinks.
49. (A) Product sponsors (B) Many people

(C) TV viewers (D) Buyers of media time






